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Write all Nos. in Englishonly.

Verify the,roll numberPrinted on your OMR sheetwith
the roll number givin in your admission card. '

If your rollnumber is not Pririted on OMR answer
sheet then write roUnumber on blank space provided
on 'thesheet.Write onedi.git on one block.

11.,Handing over of theAnswer Sheet, to the invigiIator, is

compulsory after the examination.

12. Condidate can cary question paper w~ththemselves.

, !
Do not write anything else on the question paper,

in anycasedo not mark answeron the questionpaper.

There are 90 questions in this paper.AU'the questions

are compulsory.,Each question carries one mark.

In this questi~n paper, question'jmmber 1 to 50 areto
examine mental ability and question number 51 to 90

are Test language compehension.'

Language comprehension test consist of two section,
hindi and english, From these,'two section only ques

tion fron' one language ha~ to be attempted.

8. Serial Nos. of all the questionarewritten on the Answer

sheet. In front of these the Serial Nos. A, B, C, D

probable,aswerare given You have to select the correct

answer and black in the circle arount it.

Example, @ @ .@'.< C is correct Ans.)

9. Mark answer on separateAnswer 'sheet given.

10. There are shee, to rough work

OMR Answer Sheet No.

OMR \3ffi tBrCll ~

lOb "<~~3

"CJfr~<PT ~ ~ ~

) ROll NO. OFCANDIOATE ~ f.Il\~_

-"--~--------------------------,~S;;;:;.l...\~""-----'
~Riq> ~I.~dl~ ~ Mantal Ability and Language

(~3mCJT'~)~~l9T (Hindi or English) Comprehension Test
90 ~ ~: 90 Time: 90minutes Max.Mark: 90

~~q;)~ INSTRUCTIONS TO CANDIDATES

flffil 3i<I>~ IIt\' ~ I 1

IMR \3ffi',lf.iT1Il1R Utll ~ji/)iliill (Roll No.) 3TlAT ~ 2.

?I11~~3TI3ljw+iiill (Roll No,)~~CiR I

~ {)MR \3ffi 1R 3lNCPT3l jw+i jill Utll ortlt. tIT ~ 1f?I 3.

~ ~ 3ljW+iiill ~ ar:rm~ I~ ~ II~ t\' 3i<I>
:rorr~1
A 1f?I1R 3T"ll ~ '" fc;m I J1r.11f?I \'ffiR 1?r<nG1ftI3TflI;(f 4,

~I .

fl "S!:A-1f?Ill 9 0 JIr.I ~ I "fl1?rJIr.I 31f.rcmf~ I'~ JIr.I 5.

;y~ 3i<I>t I

oR ~ 1f?I ~ JIr.I 01 ~ 50 <fill ~ JIr.I ~ ~ 6.

~atUl ~ ~ t ~ JIr.I AllJtcI; 51 ~ 9 0 <fill ~ JIr.I 'lfI'lff

~"CJfrlffi ~ ~ t I

JlfT~"CJfrlffi~ ~~~~~t~~~ 7.

ill 'lfr1iIT~ "SIFll 'ill1 t\' ~ Cllr-IT t I

IMR \3ffi - If.iT1Illl ~ JIr.I ~ AllJtcI; 3fflI;a ~ I ~

11A ~ ~ i3ffi'i ~ AllJtcI; A, B, C, D, 1?r3fflI;a ~ I

iItf ~ JIr.I ~ "fl'fJ \RR ~ W+1tCll~ mt 'ill1T-i ~ '"CI>l"ffi

~I

~@ @ • @(C~m'Rtl)'
ffi 3TWI ~ f<fl) -m) OM R \3ffi':"lf.iT1Il1R t\' 3fflI;aCiR. I '

A-:-1f?I ~ am II 'lAA' ~~-"ill"11I tg ~I ~JIr.I-1f?I,~
~ortll

~lffi ~ ~ f.R1afCl>'ill1 OMR \3ffi tBrCll ~ ~

I

~lffi~ 3ftA ~ J1r.1-1f?I ~ \jfT ~ % I



~ 1. fi'@tllaif~~ 0,2, 24,252,_.

1lwrffi~ @f-ill(- ':<5 \ 2.
, )\t .. ~

(B) 1040 y ,----
(D)5430 ~)\ ~

.---"
(A) 620

Je)3120

Q. 1.Find thenextnumberin the sequence
0, 2 , 24, 252,_.

MAT

.(B) 1040

(D) 5430

(A) 620

'. (C) 3120

~2. fi'@tllaif~~O, 6, 24,60,120,

_.1lwrffi~ €Ilf-ill(-

Q.2. Find thenextnumberin the sequence
0, 6 , 24,60 , 120, _'

(A) 180

(C) 240

(B) 210

(D) 360
(A) 180

(C) 240,

v(B) 210

(D) 360

~3. fc;Q: ~ m 1l '?' ~ fi.lf~(1ftm
~cnl~t« 3ta,:R"€II f-ill(-

Q. 3. Find the letter to be placed in place
of'?, in the given figure-

~4. ftm ~ t« ~ ~ {9llf-ill(

2,10,26,_,242 I,
1 ii,~~l!
y--~- ~.
) I;

)~I

I,. -I Q -1 i'"IJ ,U , _

(B) 81
2.1-4-1
(D) 84

J. . ~
,{-I '~•• l
.J ,I .'

3 4 9 6

5 L S 4

7 P ? , 2

1 8 8 3

(A) 80

Find the appropriatenumber for the
blank space2 , 10 , 26 , _ , 242

8-tib-J

~.' E ~ f0l :]:-:

k i ~i~ IVO,!

~"P £, 7.. Lt 'v VVX:;: 2
./(A)M (B)N

(C) Q (D) R

~\1\q

•

(B)N

(D)R

(B).81 '

(D) 84

3 4 9 6

5 L S 4

7 P ? 2

1 8 8 ' 3

(A)M

(C) Q

(C) 82

(A) 80
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(B) .!.£
9

(D)17
9

DIrection (for question nO.5to 7) :-
Find the missing term in each of
the following questions.

T:-(m-~.S~7~~)~~~'

~.q:rq(.iif(H1~~cnr-,

s.G:~::W:?

~~WG
(A) (B) (C) (0)

6. E : 8:: J : ?
- -
I 4

(A) .!l
9

(C)jL
7

Q.5.

Q. 6.

G:~::W: ?

t3)~WG
~ ~) ~).~)

E : 8 :: J :? )J
- -
I 4 N -

~

~) 11 (B) .!.£
9 9

(C)jL (D) 17
7 9

I
i

7. A, D , I, P , ? Q. 7. A, D , I, P ,.?

(A)W (B) X (C) V (D) Y , (A) W (B) X (C) V ~

8. ~~ fqCfi@04j'~~~ 'ww
~cnr f-il'1CfiI~~~t~

T :-( ~ ~. 8 ~ 9 ~ ~) ~

A-'-1,B=2, C = 3, Z= 26
tm--

Q. 8. Find the group of letters w]:Iiehmakes
the least total amongthe alternative.

b f 8' -f ~r-
(B) FRYX

(D) VTM
,)<

. '-1t1/tl
\ (~- ~).DKA

(C)ODX
;X

Direction (for question no. 8 to 9) :-
If A = 1 , B = 2 ,C = 3 , , Z = 26
then

(B) FRY

(D) VTM
f) (A) DKA

(C) ODX
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.~ 10.<m:: A = 26, SUN = 27 0Gi

CAT=?

~ 9. fu:Q: ~ fqCfl('4j'~ ~ 3l8,IT ~

~~ f-il'1Cf11<im ~ ~
t-

(A) PLOT

(C) PLAY

(B) PLAN

(D) PLUS

Q.9. Find thegroupof letterswhich
makethehighesttotal among
alternatives.

'{f?-<J. .
( /

(A)~OT/"'i ') (B) fl.A.N)<

,(C~AY1' ~)~US - "\~

\ -t ~'S
Q. 10. If A::: 26, SUN:::27then CAT:::?

1
234

,9 8 7 6 5
10111213141516

252423222120191817
2627282930313233343536

49484746454443424140393837 .

,

~:- ( ~~.11 ~ 1S~ftwn;)
~~~~~31l'tR

3TTmfuf:t ~ ~'<I~-s~ ~.+{

GflliJOlI l'flfI t I~ ~ +{ ~

(::) ij;~ 3ffi ~31l ~ ~ +{

~~t,qff~GI~~31R

cCr~+{t,~~~~tl~
~ 14q;~+{ ~ ~ W'"tfG em~
cCIfG1~I

(A) 24

$)57

(B) 27

(D) 58

~b+~1':.il
Direction (for questionno. 11 to 15)
The following questionsarebasedon
arrangement. of numbers in the.
form of pyramid. In .each question
there is some relationship between
the two numberSon the left of the
(::). The same relationship exists
betweenthe two terms in the right of I
which one is missing. Find the ;
missing term from the given I:
alternatives. I,

1 "7 ij
2- 3 4' \ Q\ \ , !I

9 876 5 ~
1011 12'1"3141516 -5

2524232'22A 20 1~1817
2627282930313233343536

49484746454443424140393837

(B) 27

(D) 58
(A) 24

(C) 57

~11. 132220: 211412::2229,31:(?)
•

(A) 304345

(C) 44 2931

(B) 302123

(D)'31 2022

Q.1l. 132220: 211412::222931:0)

(A) 304345 ~ 302123
1

(C) 44 2931 (D) 31 2022 ,

~ D';:\ ~3
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2.2873: 13212014::10'242311:(7)

(A) 29282423 (B) 28274746

(C)25272824 (D) 29454430 "

3.24 1214: 7521 19:: 14163234: (7)

(A) 19174139 (B) 20184240

(C) 21194341 (D) 20224244

4. 25224447:23204245:: 11143229:(7)

Q.12. 2873:13 212014::10242311: (7)

(A) 29 2824 23 (B) 28274746

(C) 25272824 JE» 29454430

~

' .1 ' 24121,4:752119,:: 14163234:(7)

, 7/r/~\!,~
~19174139. (B) 20184240

\ ' (C) 21 194341 (D) 20224244
,:J., J ~),\ ,)) 1

Q 14. 25224447:23204245::11143229:(7)

(A) 13163431 (B)24214341, "1 "I\3~ 163~31 (B)242L4341

(C) 24 214346 (D) 13 102421 \ ~,\ I ) (C) 242143 46 (D) 13102421

5.82224: 133133:: 62022: (?)

(A) 91221 (B) 81312

(C) 1533 35 (D) 51 921

~ 82224 :.1331 33 :: 62022: (?)

C ~21.1o / '). I ' (A) 91221 (B) 81312

~5 3335 (D) 51921

6. REASON ~'~ ~ wfur m
1R'~ ~ fClCfl~'j if ~ ,cn"A m
~. !llffifil1k'4 WIT?

(A) ~3V20Vl

(C)HEA20Vl

(B) ~3V20Vl

(D) ~EV20lt1

Q. 16. Which of the givenalternative
, ,is themirror imageof REASON
, if the mirror is placed below
theword- ' 15E
(A) ~3~aOr ) ~3VaO~

,(C)~EAaO~ I.)B) ~EVaO~

7. b3k4S ~l q;rwfur !llffif~k'4 q<:rr
WIT?

(A) 2fl.>i£d' (B} 24>i£d

(C) 2fl.>i3d (D) 2fl.>i3b

Q.17. What is the mirror imageof

b3k4S ~12} ':>\ t

~ 2fl.>i£d (~24>i£d

(C) 2fl.>i3d ~2fl.>i3b
;X .



~18. ~ 27*3=243

5*4=80,

m 3*7 cnT 1lR ~~?

Q. 18. If 27 * 3= 243
5 * 4 = 80

Thenwhatis thevalueof 3 * 7

Direction (for questionno. 19 to 20) :-
Arrange the following words in the
alphabeticorder of english dictionary
and identify one that comes in. the
middle.

(A) 84

(C) 63

\~'t'S'

(B) 147 ~ '2J~

(D) 23 -r /3
LV\.

f.:$r:- (~~.19~20~~)

~~~~cpT ~ ~CffiI'1:fI

-ij; ~(4lI~recpW1I~~~~

+rcZl~ 3JR CI'l'"RcpT~~d ~ I

(A) 84

(C) 63

~147

(D) 23

~ 19.(1) Dialogue (2) Diabetic

(3) Diagonal ,(4) Diaphragm

(5) Dialect

(A) 2

(C) 4

(B) 3 .

. (D) 6

(A) 2

(C}4

(B) 3

~6

~ 20. (1) General

(3) Gental

(5) Generous

(2) Gesture

(4) Genuine

<:""",--....\
./

( Q. 20. (1) Gene..ml,(2) Gesture/<

.... ~ental. (4) Genuine

(5) General!!

I

i

j
i

(A) 2 (B) 3

(C) 4 (D) 5

f.:$r:- (~~. 21~ 23~~)

.;frij ~ ~ ~ ~~Cffi ~ 3TImfuJ

tl~~~3TaR"CPTlfR~
•

'tfflp 3lR ~ cCr~ -ij; j0l'14icl

-ij; 1ffiiR t \1G 1(:'<°I -ij; ~ M "CPT

trR2x3=6 tl

(A) 2 ~

(C) 4 (D) 5

Direction (for questionno. 21 to 23) :-
The following questionsarebasedon
the given matrix. The value of each

. letter is the product of its row and
column number . e. g. . the value
ofM is 2 X 3 = 6



\

0 1 2 3 4

0 B 0 J C P

1 E N H I D

2 G R A M V

3 F S T L Z

4 W X Y U K

0 1 2 3 4

0 B 0 J C P

1 E N f:i I....D

2 G R A M V

3 F S T L Z

4 W X Y U K

.~t16t 1

Q.21. Find the group ofletters which
make the leaSttotal among the

>ez \0 altem~ves- ..l. 1- g ;:: \v
.>< "'. (A) b~y.. (B) FRY

.d-'~DX (D)VTM

~~ ~ ~g-f)o

Q. 22: What is the total of GREAT

(A) 8 (B)10

~2 (D) 14

(B) FRY

. (D) VTM

(A) DKA

(C) ODX .

Z2. GREAT CfiT~q<;rrt?

(A) 8 (B)10

(C) 12 (D) 14

Z1. 'fu:Q:'~ fClC6e<41'1l~ cr& 3i8.R~

'~mr~f\i1'1C61~~cn+rt I

Q. 23. Find the group of letters which
makethe highest total amongthe
alternatives.given

(B) PLAN .

(D) PLUS

(A) PLOT

(C) PLAY

~3. 'fu:Q:~ fClC6@Ol1'~cr&3i8.R~~

q;tf-ilflC6I~~~t I

(A) l.....OT k, (B)tAN 0 t I :s
. (C) AY~US

\;(
, ~ -+ g. l-.< + J:lf

!4. tcnm'¥ ~ II BOARD cnT ~ In a certaincodelangua,geBOARD
EQBNCft;mrr\iffiITtl~~ll ~ is written'asEQBNG.Howwill the
CLIMB ~ft;nm;:1Il('1i I \ . word CLIMB be written in that

b ~ language'r- .,C D (
(A) CLJKD (B) DKJLF \ ~ ~JKD. (B) DKJLR.

(C) DNHMB. (D) FNJRO ;~ t ~/ (C) DNHMB ~FNJRO.

!5. ~~~ftf"f{fR~CfilmITtl\ /1f 25. A person earns three rupees
. ~ ~ CIij. &r ft-f ~ ftf"f -q;r \ 5] .)6 on the' first day. If he earns

.;. oT~ ftf"f ~ :---:--- double everynext day, what
wr-rr CfilmIT.~, 3. will be his earning at 10th day.
~fcm1;fi~-. . ,
"f)"1I:;'> ") . Y ,)
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(A) RS. 768 ~) Rs. 1536

(C) Rs. 3072 (D) Rs. 30

(A) RS.768

(C) Rs. 3072

(B) Rs. 1536 !

(D) Rs. 30

•
f.$r :-(~~. 26 ~ 30~ft;rQ:)

~ ~~m ~.qm;r;r I-ij; arm'! q;)

m-ij; ~ ~ qm;r;r II ~ 3tciil -ij; ~ ~

ft;rorr ~ t I 3tciil q;r w+r <IGffi s3lT t I

ar~ -ij; m q;r 3IiZI1A ~ ~ ~

~~~~lfRfcrRl

Direction (for questionno. 26 to 30): I

In the following questions the letter
in column - I are coded in the fo
of numbers which are written i
column - II , but the order of numeral
is different . Study the code of letter
and find out the correct answer fo
eachquestionfrom given alternative

, Ir

LEG

~G

ENL

LGS

~30. GEN cnr'CfiTsm?
(A) 435 (B) 642

(C) 328 (D) 825

~ 29.~ L~M cnr'CfiTsq<;rrt"I

(A) 328 (B) 625

(C) 524 (D) 425

Cflltolq - II Column - I Column - II
432 \ ! LEG 432

358 ~G, 358
'7

248") ~ /' C,., ') ENL ' 248

734 I /11 N'"'> LGS )'.7]1~
&'I OJ \' 0'= S . 3 g 5'

~ 26. LSG cnr 'CfiTsq<;rrt"? 3 ) '-I L ~ What is the codeof LSG?

(A) 743 (B) 438 ~ _:2~ .(A) 743 (B) 438 I
(C) 473 (D) 347 ~j '3 - , . \ ~73 (D) 347

~ 27.~ NLEM cnr'CfiTsq<;rrt"?( S-:.- Q.27. WhatisthecodeofthewordNLEM?

(A) 4832 (B) 8425 t'\ _...-\ . (A) 4832')(\~8')8425

(C) 8437 (D) 2534 / (C) 8437 (D) 2534x

~ 28.~ MSN cnr'CfiTsq<;rrt"? <;'.1 "Q. 28. What is thecodeof wordMSN ;

(A) 578 (B) 634 ' )1 I) W78 (B) 634 :

(C) 583 (D) 235 /!II '?' ,(' (C) 583 (D) 235
~) ) /,

Q.29. What is thecodeof theword t
r, LEM?
V; - 3 (A) 328 (B) 625

N ~ '8 (C) 524 ~25

• L.- - it Q. 30. Codefor word GEN will be '.

E - ~ Ll. 7) 3 (A) 435 (B) 642

S' - 7 I ~ (D) 825

M-- r Vi I '<
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(B) 30

(D) 50

Q.32. Who amongthe studentsstudies
maximum number of subjects.

(A){ T (B) S .~. (D) P

Who'1nong the students studies
minimum numberof subjects-

(~) T (B) S (C). P (fJ)R
. it ) J J.'

Q. 34. Who among the students studies
only four subjects-

(A) R ~T (C) S (D) P

(d)T andQstudy anthropologyandcivics

(e)T andSstudychemistryandmathematics

(b) R andQ studyphysicsand T \/'"1

mathematics / il('

( c ) SandP studybiology andchemistry .

.~ l.t X+-' .'( [~Op)() ~ l~~
:<)( .. ': ~t() )1;,20

Q. 31. TherearedeersandPeacocksin a
zoo. By counting headsthey are
80 . The numberof their legs is .
200 . How many peacocksare
there

.(A) 20 (B) 30

~. (D) 50

roO/~O
Direction (for questionno.32t035) :-
Thequestionsarebasedon thefollowing
information. .
Five studentsP, Q , R , SandT studyin
a:las~ qf these DJ . f (1tml f'/J
h; Q. I S;r 'PI~lPI Q I ~ R
(a)P an~Q studyp ysicsand ~/ T ,~J

chelDlstry .

. Q.33.

f 31. ~ ~ 1l ~ 3fi"q)t~ 't I'C:RT
cnT rtIHCfitft:rUettmr 80afitthT
ettmr 200 'tl csHlI$Q\~ll~

l:lTt't?

(A) 20

(C) 60

r'34. ~-« cn"Rmmmff ~~
fcItF;r~'t1

(A) R (B) T (C) S (D) P

(A) T (B) S (C) Q (D) P

r33.~ -«cn"Rm fen,lIm~ r.nq'

fcItF;r~'t1

(A) T (B) S (C) p. (D) R

~:- (~~. 32 -« 35 ~ ~)

~ l'J"q VA ~ eft ~ GlI'1Cbj;fllR .

311mfurtl
."tffq~ ~,Q,R,SqT ~ (pm\\)
~tlrn~ ..'\.:~
{a) P ~ Q ~ ~ .<t1l~'11

mt,. .-
(b) R~Q~~"tlfUm~

~,

(c) S.~ P~:fcf~ ~ '<t1l~'1
mt. ,

(d) T ~ Q llACI ~ atW
'11.IRCb~~t ,

(e) T atRS;HII~'1~"tlfUm~
tl

r32.~-«qit;rmmmff ~ amrcn
fcItF;r~'t



.~35. ~~ fq~I~CfiTcnFim~

H'1I11'1am-'1ltlfiCfi~~t I

(A) P am- S (B) Q am-R

(C) Q am- T (D) R am- s

Q.35. Which of the following pairs
studies chemistry and Civics-

~~~}and S (B) Q and R

\YfQ and T (D) Rand S

f.$T:-(~~.36~40~~) ~ ~

~~q;-r~~~

ClR.~~~q;-r\1'ffi~-

Direction (for question nO.36 to 40) :-
Study the following figure carefully
and answer the given questions

:
;,

Leader
/

y

z

~ 36.cnFi m a:br ~ ~ cnT

R'E"fQacn«rrt~l']'fqCfj"'1ift I

(A) 2 (B) 3 (C) 4 (D) 5

~37. cnFi m a:br ~ ~ cnTR'E"Na

cn«rr t ~~or ~ t "'1if
l']'fqCfjI

(A) 2 (B) 3 (C) 6 (D) 7

z

Q. 36. Which region representsIndia I
leaders who are not singers

~ (B) 3 (C) 4 (D) 5 ;

Q.37. Whichregionrepresentsleaders I
who areneithersingersnor india !

Ii
I

(A) 2 (B) 3 ~ (D) 7

~38. cnFi m a:br ~ ~ tllllCflI cnT

R'E"Nacn«rrt~~"'1ift I

(A) 1 (B) 2 (C) 3 (D) 4

~39. cnFi m a:br.~ ~ ~ cnT

f"l'E"Nacn«rrt~l']'fqCfjt-
(A)2 (B) 3 (C) 4 (D) 5

Q. 38. Which region representsIndian
singerswho arenot leaders

(A) 1 (B) 2 (C)3 ~~,

'1
Q.39. Which region representsIndian

leaderswho are singer-

(A) 2 ~(C) 4 (D) 5



--7'" \
fF,,~l. "-k :.,:1;,,".'a"J-, " \ ••••• it

~40.~ m $I' ~ ~litlCfi"CfITR~Nd
Cfi«IT t \ill', Of or ~Of m~
tl,
(A)2 (B) 4 (C)6 (D) 7

,. 41. ll:Cfi -qffi 'CfIT~ CflHCfll'lR~:

A,B,C,D,E 3th' F ft;mrr ~ t I

~~<'iR~~,r~@I$
,~tl

S'0',,0'
C - E

B C

B
A ~rqqfu1~m3l8;R'm?

(A)C (B) D (C) E (D) B

~:-(~Qi.42~ 43~~)

A 42 ~-qfficCrTffi~'cfr41lt-',

~ ~,5"4

~ ~

BB
3 'ij; fcIqfJd ~-m 3fcI; 'WIT I

(A) 2 (B) 3 (C) 4 (D) 6

R43.

Q. 40. Which region representsSingers
who areneither Indiannor leaders-,

(A) 2 (B) 4' (C) 6 ~;

Q.41. Thesix facesof adicehave been
markedwith A , B , C , D ,E and
F respectively.Thethreepositions
of it areshownbelow-

Find the alphabet o~osite A?

~

)C (B) D ~E (D) B
" )<

, '

Direction (for Que.no.42 and43)
Q. 42. four positionsof a dice aregiven

~, ~,54

~ ' ~

oB
What number is apposite to 3?

jk) 2 (B) 3 ~ (D) 6
)< ;X

Q.43.~ ~,3,' 5 .

'L:-J/~~
, .

GO



4 -~ fClQfh1 cn"Rm atcnm?
(A) 6 (B) 5 (C) 2 (D) 1

f.:$r:- (~~. 44-« 45~ft;ro:)
tffq ~"QCP ~ tR"fflr ~ I~

- c#r ~ ~ c#r ~ t- i37tR

afR ll"fimf c#r~ ~ c#r~

t- ~t-I ~ c#r~ ~ c#r

~ t- i37tR afR ~ c#r ~

ll"fimfc#r~ t-~t- I

Whatnumberis oppositetoy
(A) 69-5 (~?~ 1

Direction (for questionno. 44 to 45) :-
Five books are placed on the table
Hindi book is placed above the
English book and the mathematics
book is placed bell9w the science
book. English book is above the
science book and drawing book is
below themathematicsbook.

(A) Hindi ~awrng

(C-)Mathematics (D) Science

Q.45. Whichbookis atthebottom?

(A) Drawing (8) Mathematics

~h (D) None of these

Q.44. ThebookbetweenHindiandscience
bookis?

(B) ~

(D)~

1-1
(B) ll"fimf E.
(D) ~~~;:ffiT 0

r
D

(A)~

(C)~

(A) ~

(C) 'TfUm

~ 44. ~ altt~ CfftfCfldl~~ ~

cn"AmfCfldl~t?

~46. 12~flr-R:CfiR:T1{Cf~cnT~ S Q.46. At 12o'clockminutehandpoints
Cfi«lTtm 4.30 ~"dGrCfiR:T~east. At 4:30, in whichdirection
~cnT~~? /' _8(\1 thehourhandwill _point?

c- -r
l.--- -.... ~ \\l

(A) '\TI'fX-~ (B) ctfuur -~ (A)North - East (8) South - East

(C) ctfuur (D) ctfuur -~ 7~ (C) South ~outh - West

~ 47. ~ ~ m if ~ Cfft~

m-
~. What will be ~henu~ber
~ of hexagonsm the gIVen

fhmre
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(A) 2~' .(B~6"
(C) 5 \k8'J"6

(B) 4

(D) 6

(A) 2

(C) 5

rJ':- (maiqien 48-« SO~~)

M'm-q "'EIR-"'EIR ~ ~ 'N"t I

~ ~ ~ ~ 3RIT ~ <ffi" 'l@

~ 1\3"ff~CIiT~~~"1

48. ~~1J'Q;f,;(if'ij~CfiT~m""

Direction(for questionno. 48 to 50) :-
In eachof the following questionsfour
figuresare given. One of thesefigures
doesnot fit with therestof thefigures.
Findouttheserialnumberof thatfigure.

Q.48. Find the odd one out in the
pictures given below-

. ,

(A) 1 (B) 2 (C) 3" (D) 4 "

(1) (2) (3) (4) (1)

(A) 1

t=c=L T
::; ~ (4)

(B) 2 ~(D) 4

o[]D][]
1 2 3 4

(A) 1 (B) 2 (C) 3 (D) 4

Q. 49. Find the odd oneout in the
pictures given below

.glOO~
"(A) 1 (B) 2 (C) 3 (D) 4

Q. 50.Find odd oneout in thepictures
given below':

(A) 1 CB) 2 (C) 3 (D) 4

(1) (2) (3) (4) ~~~~

'(A) 1 ;(( (C) 3 (D) 4



~64.

~62.

~60.

(D) ~

(D) l1T~

(D) ~

(D) PH"IZ'I\(C) ~

(C) -rt~

mtn m~-qf(afUT (~)

~ +mnt't mu it'ft-
(A) ~ (B) ~1:n\ (C) ~ (D)"31:n\

.n:sn~Gh'"~ ~ ~ ~"B" 'WUmft-
(A) 3W1C! (~) (B) ~ (C) ~ (D) ~'l1Cl

Pt"1Wtfu;ta fc1Cfl@Ol1 it"B" ''Q,Cfi 31fur"B"~' ~ it; mt cm;rr "3Q'i'ffi fClCfl C'Q ~-

(A) ~ ~ '(B) Cfil1 ~ ~ (C) W1R ~ (D) CfiRT ~

'f:ilWiI::t' «q~Qe:it wm:r t-
(A) ~m (B) ~m (C) ~m (D) ~g'l4lf\\m

,~~ ~ ~ ~ mtWSJ 'tfW'tt<:fCfl' it ~ m~t-
(A) m (B) 1f1WmSlCflF<l (C) ~ (D) ~ 1

,,~mfT3it %~ ww:rr qm t ," ~ ctT WT!"B" C{lCl<:fCfiT c6R-m 1TcfiR t- iI

(A) ~ C{TCP1 (B) fi:ll3l C{TCP1 (C) ~ C{TCP1 (D) ~ it ~ m I :

f~"1fMf€la~it"B"~~t- jl

(A) ~ ~'1"ff c8<Wi11clCfiU I (B) ~ ~fcl'!'1f1qffi 11clCfiU I ! .

(C) ~ ~ ett qffi 11clCfiU I (D) ~ ~ qffi CfiU I

Utt-Utt ~~'!i0~"@t- C{lCl<:fif Utt-Utt &I(Cfl{fv(Cfl 3lTUR"tl\~1TcfiRCfiT~!
,

(A) fW<oJ (B) r,.,If•• ,., (C) ""'" (D) <i<TI ; ,

~ M""'" ""'"w' I
(A) -.iffi'l (B) ""'" (C) f«CI'I (0) \i«>m i
'CflH1ff' ~~mtrr"B"~t-
(A) Sfli~I~1 (B) -gJIII& (C) ~

'~' CfiT~~t-

(A) l1T1:R (B) Tr{

~ c«f.ft"C\'ffi ~ CfiT"iI<:R ctftf-ilQ-

(A) ~ (B) ~

'ilT~';{~-

(A) ~ (B) mm (C) ~-mm
~~~it;~.'~' ~CfiT~'%fmwnm-

(A) ~,~,~ (B) ~,~,~

••

~63.

~61.

~59.

~58.

~57.

~56.

~55.

~54.

~ 53.

~52.

~51.

_J
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(D) 3WrCfC1

(D) ~

(D) 'ffi:

(D) .~

(2) ~'ffi:~ ~.I

( 4 ) 31cI~ <fiT "{j\ifT c:m~2lT I

(C) 31W=f

69.

71.

74.

,
~ ~ ~ CITCI<ifq;T ('11retCfi~ -q:«1<11$ll>-

( 1) ~ qq'CfCIl 0/1 if.~ ~ f.rnr;rr I

(3) ~, ~ CI'1C1lftl "{I'pft ~ ~ I

(5) W1~~~~ 2.TT1

(A) 4, 5, 3, l, 2 (B) 2, 1, 5, 3, 4 (C) 3, 4, 2, 1,5 (D) . 4, 2, 5, 1,3

. 'trffi' ~ CfiTfCi q fl(1jl?if ~~-

(A) >rfutmf (B) am (C) f.l<mf. (D) cmrcn
"am-!~-q:~~fum~I" - "'HgirCfli"l~-q:~~-

(A) Cfl4CflRCfl (B) ~ CfiRCfi (C) 3lf~ CfiRCfi (D) *IT'If1 'CflRCIl

"Cfilf~ 3mTR"4r ~ ~ fcni"R ~ m-a~?
(A) ~ (B) (fR (C) ~

'w'l'qrti"l lIf'm" ~ ~:qr~i"ll •.•..••.•..•••.•....•.•••~ I

(A) ClI~tilfcfl (B) Cfilf<1<:}8 (C) ~

70. ~,~,~, 'Q'"Cfo, ~ 3tTni'r~~-
(A) 'Oll fCfi"1Cli'ClCfl"$rr (B) ::rur ~ 'lOj ICICli'ClCfl ~ (C) \ill RiCli 'ClCfl"$rr (D) fcrncIur

'afi roCCfi' ~ -q:llR ~ q<:rr ~?

(A) ~~ (B) ~~ (C)' ~~

72. . R"1r~r~i"l -q:'it ~-m ~ 'Cfiq\J'lI~' CfiT~ ~ ~ I

(A) ~ (B) ~ (C) aftur
73. OT¥CfiT #llr~<1 ~~I

(A) dl'~I~'1 (B) dll'R'1' (C) ~

'\ilT fl~'!l0~m' .-a'itiF:rr~~-

(A) ~ (B) ~ (C) ~ (D) ~

75. ~-:;SmTam-~ anfflcn Cfir0"1I$41.~ftm~ 2tT, ~~ 3ltR~<tt ~m~
~ CfiT.~ fl«;rr I ~ ~ ~~-

(A) ~~'itqm ~~~? (B) mClil alrGif~~~?
(C) ~ 'fiT i'iR% <fiTwm~ I (D) R il;~if ~ 'it cp;nm?
'lflf <tt~, "'11licn ~ q;feror ~. cnfcr ~-

(A) W1mfr ~ '~' (B) (f4Cflict f3rmfr 'f.Rrffi'

(C) fi<IClJ:j'I(Vf ~ ''iPR' (D) '"11{5H(VfI(Vf ~

77.'~' CfiT3l~~-

(A) ~. . (B) '1iCflRf~ct

76..

f65.

[66.

. 68.

. 67.
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pr 78. .. 1R ttOf't<'\qOl fCll!i'.(ifl 'cnrn ~-
(A) ~\\",rl'ft (B) mm (C) W';"l1:;{1 (D) i1i?l

~ 79. ~~if~~ 3lfucn~CfiTwirtTsmt-

(A) ~ (B) ~ (C) ~ (D) 3Wffi

~ 80. ~ ~ ~.iii ~ (fir ~ t I

(A) ~ ~ (B) ~ cm"RT ~ CfiBT (C) m~ 'th: mBT (D) 60T ~.~

f-i"1f<'lfulcl ~ ~ CfiT~ (fir ~ ~ 'Ttl: ~ qh -w.rif~mqm ~ CfiT

~Cfitl
"ffiffi \?1\\i\QcW1:i -;;IT ~ ~, '~~ ~ ~ i\ ~ 3'c1'(G:lf4<:i=1 Cf>1~ it 31cfllC!,

311,q('lljlft 3tP: P.:t;,<;,.m elm ~ ~ ft;m, ~ m~ ~ ft;m, ~ m, ~ it ~:m CfiTRmuT

~ ~ ~ I ~ ~ ~ ~ ~ i\ '1m, 31IM,IU1H Cf>1~ ~ "9:fu~, itft, f.<1~1:q1~

3tP: ~ q ~:wlif4<i'f ~ >Tfu f-iBIClH ~ Cf>1~ it1Ncf, ~ Bl4$l'ld\ Cfi8 ClT€t elm

31Cl(4~Cl\e.l,~ fcftlfu if 31'f.l fB;'<;I.m em ~ em ~ WI ClT€t~ t~~ ~ crq:;

~~~~~I'
~ ~ crq:; mun CfiT~ ~ ~ WfiCft, ~ crq:; rn?dT ~ ~ WfiCft, ~ crq:; fcf>

lfffJc;Wli q 3<:"81\\ ,£ul "&lfc:Rl CfiT~ ~ c8: I

I.

~ 81. '\ifn:f~.mnqft ~ Cfit' if cntmt-
(A) ~ (B) ~~ (C) ~

(D) rn8fcii

~ 82. '-mo' qrr «QI"1lm ~ t-
(A) 31'l11c! (B) m~"W1T

~ 83. '~-~--qffi' if ~ ~ ~ ~ \ifR mt-
(A) ~ ~ ~ (B)"ffiffi ~ w:r (C) 311fl ~ -;:rrrn: (D)' <Mlm ~

~ 84. ~~1jf@tllif~~~-

(A) \\d1\"8lf~ d Cfi8 CIffi1

(C) \i1\"8If~d Cfi8 CIffi1

~ 85. 'J~~PTelmCfiT~~w~t-

(A) ~ q ~'C1Wlidl

(C) ~

(B) f1l.C\,(4lf~d Cfi8 CIffi1

(D) ~ ~ ~ ~q$l'tffi Cfi8 CIffi1

(B) ~

(D) .~ ~ q ~fd",dl ~ ~
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. RP1fMf{SlH~ ~ CfiT~ ~ -;ftir ~ ~ mCfil ~.~ ~ CfiT.

~~I

~ ~ it 3TI'I:lCI> ffi1TI IDU <;ffi;TI ~ C!Tffi fRT '!WIT.Cfi1~ 'lffiCfil1 fifq<tiffld

fllf~flll if it v:cn% I~ fcrcI;mil1 >f'l:lR~ t'- ~, ~(1I~Ia'lI~,~"aW: (1@"1$I {m ett

~ fI~ld 1<1il1 atcfif ~ ~ ~ ~~ aW:.~ lITIf (fl[ fcfi<TI% I CfiOffi,W, wmT,
-.fm (l~ 3F1 fcnif.t it ~ cpfq ~ ~ c8~ ~ t'l ~ <l'ifcl-q~ if ~ ett ~

if ~ r;;ffi ~ I ~ ~ l1RClCfi1TfllR cn«ft t', ~ aW:~ 1R ~ aW:~ ett

~ ~ cn«ft t' aW:6Gffi ~1'1l'.l14ari c8 ~RmiF'"ll1cn«ft t' I,31f'j[~ ~ 'lffiCfif ~ ~

ett ~t' aW:('l1<tiN4 t' I "11C!<ti<tilif,f-q?l<til~,!ifd<tilif, ~<<til~' aW:~ it >f~: ~

il1 ~ ~ m-urr il1 ~ ~ or-ft ~ t' I

,. ~~~ fqCfilflCfiT~~-mt-

(A) fu-ffi (B) ~(1I~Ia'lI~ (C) 3lfll'U (D) (1W~

7. ~ ~CfiT f111%((:jcqmf~ f111%~'I'-ijt-

(A) ~fq<tif@

(B) ~fC1fq<tif@

(C) fifq<tif@

(D) ~ fq<tiffll1

3.' 41<ICit! $ Cflqr~il ~-

(A) -q~~<tiI(1 ett

(B) lTI~ett

(C) -q~ett

(D) -q~'icf<til(1 ett

~. CfiClitr CIft ~m -ij Cflliof t-
(A) ~ 1R~ ett ~ Cfi1

(B) ~1R ~'ett~Cfi1 .

(C) ~ 1R~ ett ~ Cfi1

(D) 6m"B~1

). ~CfiT dqqm~ittrr-
(A) ~ ~ ett fcrcI;m<IT5I1

(B) .~1R~ett~

(C) fRT '!WIT

(D) ~Cli1fRT"~1
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LANGUAGE COMPREHENSIVE TEST (ENGLISH)

.tructions for a.No.51 & 52
The following five sentences come from a paragraph. The first and last sentence are

len. Choose the ord~r in which the three sentences (POR) should appear to complete the

.ragraph.

. .

. .

. .

He died on 27 May 1964.
Nehru met Mahatma Gandhi in February 1920..

l. In 1905he was sent to London to study at a school called Haroow.
l. He became the first Prime Minister of Independent India on 15August 1947.

:hoose from the options below ~
(A) POR ~ OPR (C) PRO (0) ROP

2.

3.
4.

5.

:No.51
1. Jawaharlal Nehru was born in Allahabad on 14Nov 1889.

~f R
33. . .
54. .. .

55. My tooth felt a lot better.
P. The dentist examined my hurting tooth.

O. The dentist fixed my tooth. R f (J
R. My father took me to the dentist. '"\

Choose from the options below /
(A) POR (B) OPR (9( RPO (0) PRO

~.No.52,1. My tooth began to hurt yesterday.
,2. .. ; .

Instructions for a.No. 53 to a.No. 55
The following questions have the second sentence missing. Choose the appropriate sentence

from the given options to complete it:

a.No.53
1. Mannu and his father climbed a boat and went to the other side of the lake.
2. .. ... ........ ................................ ........ .... ... . ............... ................. ! I
3. "I've caught a fish", shouted Mannu :I
(A) They went to the market and searched for good fish for their lunch.. X. II

/.' :1



\
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---- --- . r "

His dad wennor fishing and Mannu went to his aunt's house.. .

Mannu prepared the fishing pole and dropped the line in the water.

Mannu and his father returned home in the evening.

54

The race for which Singh lis best remembered is his fourth-place finish in the 400
metres final at the 1960 Olympic Games .

.................................................................. ' - .

Singh's fourth-place time of 45.73 became the Indian national record and held for almost
40 years.

. -
He was the only Indian male athlete to win an individual athletics gold medal at a

Commonwealth Games until Vikas Gowda,won the discus gold medal in the 2014.

He was awarded the Padmashree, India's fourth-highest civilian honour, in recognition of
his sporting achievements.

He led the race till the 200 meters mark before easing off, allowing others to surpass him.

He represented India in the. 1956 Summer Olympics in Melbourne, the 1960 Summer
Olympics in Rome and the 1964 Summer Olympics in Tokyo.

)5

Sage Yajnavalkya decided to divide his property amongst his two wives Maithreyi and
Katyaayani as he wished to leave for the forest.

.... , , .

The sage replied that through wealth one can become one amongst the many wealthy but

t was knowledge which made one immortal so she declined the' property.

\/Iaitreyi took the property and went to the neighbouring country and lived their happily.
\/Iaitreyi and katyaayani declined the property and accompanied the sage to the forest.

\/Iaitreyi asked the sage if she could become immortal through this wealth.

<atyaayani refused to take half of the property and demanded the complete property
:rom the sage.

:tions for a.No. 56 to a.No.60

l the word which best fills the blank from the four options given below:

rheyalways : him for his south Indian accent.

A) pull ~ease (C) chase (0) angry

.; I

rhe bus is quite high.

A) fair (8) charge ~re (0) cost

)ur school garden~ent to the to buy a few pots of flowering
A) orchard ~ursery. (C) estate (0) plantation

lI1akesure you read all the carefully before setting up the device.
A) questions ~ructions . (C) bills (0) orders

plants.



,

~ret and unfair i~fluence

(D) religious influence

(D) be desperate

(D) admonish others

(D) cancelled(C) dropped

~ unforeseen danger

(D) a secret enemy

The students get a monthly which usually consists of writing a report.

~signment (B) report (C) grade (D) points '

structions for a.No. 61 to a.No.65
loose the correct meanings for the given idioms /phrases:

Lose heart:
(A) be angry ~e discouraged. (C) be sad

!. Backstair influence:
(A) political influence
(C) fair and proper influence

t Blow one's own trumphet:
.(A) praise others' (6}15ffiise oneself (C) flatter

t Held over:
(A) stopped ~ostPoned

5. A snake in the grass:
(A) an unexpected misfortune

(C) a treacherous persons

(D) hidden

(D) outdated

(D) cheat

(C) preliminary.x

\.(C)borrow(6) hire

lstructions for a.No.66 to a.No.68
ind out the alternatives which are most opposite in meanings to the words given.

6. Tentative:
VAJdefin'ite (B) universal

7. Lend:
(A) pawn

;8. Shallow:
w4eep (B) definite (C) hollow

nstructions for a.No.69 and a.No.70
,elect the most appropriate options to fill in the blank from the following alternatives given below:

19.

roo

If I had had enough money, I... a laptop. . /
(A) would buy (B) had bought (C) would buy V(p) would have bought

(A) 'I~;;~"an ~~~i~:; are ~e you (D) Do you be

nstructions for a.No. 71 and 72
:hoose the alternative which can be substituted for:

71. Sound of ape~J
(A) moan \)'1:5) bray 'tc) gibber (D) clan

.;<



Words inscribed on a tomb:

'\(~pilogue (B) epitaph (C) epitome (0) episode '"'fr . y: . 7-
Jctions for a.No. 73 to a.No.80

In the following passage there are some numbered blank~. Fill inthe blanks by selecting
::>stappropriate word from the options:

Today, fountain pens are often treated as luxury goods 73 sometimes as status

Jls. Fountain pens may serve as 74 everyday writing instrument, much like the

on ballpoint pen. ...7S.. " ..... quality steel and gold pens are even available inexpensively
...... 76 France, in particular, the use offountain pens is 77 spread.

users often state that once they start using 78 pens, it becomes uncomfortable

ball points pen due to the 79 motor effort needed. In some countries, fountain
.re 80 .in lower school grades and are believed to teach children better control
riting...• ./

~ and (B) by (C) on (D) to

\JAran (B)in (C) a . (D) and

(A) big (B) small ~od' (D) large
(A) of (B) at (C) when ~

~II (B) slow (C) good (D) fast
(A) ball point (B) imported (C) local ~untain

~tra (B) little (C) most (D) few .

(A) easily ~ompulsory (C) provide (D)compulsorily

:tions for a.No.81 to a.No.8S

Ie passage carefully and choose the most'appropriate options from the alternatives given:

Henry Gateslll (Bill) was born on October 28, 1955, Seattle, Washington. Bill was the

of the three children in an upper-middle class family. He enjqyed playing games and
l read. Bill became bored in public school so his family sent to Lakeside School, where
!lIed in math and science and did well in drama and English.

lecame interested in computer programming when he was 13. At Lakeside, Bill met

en, who shared his interest in computers. At age 17, Gates and Allen were paid $20,000
19rammecalled Traf-O-Data that was used to count traffic.

!sscored 1590 out 1600 on the SATand was accepted by Harvard University. Meanwhile,

:Indropped out of Washington College to work on computers at Honeywell Corporation
vinced Gates to drop out of Harvard and jOin him in starting a new software company in

lrque, New Mexico. They called it Micro-soft initially and soon changed it to Microsoft,
'ed it to Bellevue, Washington.

T



•:;rosoft grew quickly from 25 employees in 1978 to over 90,000 today. Over the years, Microsoft
veloped many new technologies and some of the world's most popular software and products

ch as Word and Power Point.

IIGates was one of the richest men in the world. In 2612, his $61 billion dollars in assets made

m the world's second richest man according to Forbes magazine.

I. Which of the sentences is not about Bill Gates?
(A) He was born in Seattle, Washington. (B) He was the second of three children.

\..-(er1=re enjoyed public school. (0) He excelled in Math and Science

2. In what ways were Bill Gates and Paul Allen not alike? .
~ey both went to the same college (B) They both liked computers.

(C) They both went to the same school. (0) They both dropped out of the college

13. What is Traf-O-Oata?
(A) Programme to count people
(C) Programme for MS word X

~gramme for counting traffic.
(0) Programme for counting money

34. What was the percentage obtained by Gates to get admission in Harvard University?

(A) ~9 (B) 99.83 ~38 (0) 9~. ~

85. . The answer to the question,"How rich is Bill Gates?" is given in:

(A) second paragraph (B) third paragraph
(C) fourth paragraph ~ paragraph IV

I D --

Instructions for a.No.a6 to a.No.90""i"b ) b
Read the passage carefully and choose the most appropriate options from the alternatives given:

Potatoes are the fourth on the list of the world's food staples after wheat, corn and rice. Americans :
consume about 140 pounds of potatoes per person every year while Europeans eat twice as I

many. Ii
On August 24, 1853, at Moon Lake Lodge in Saratoga, New York ,a native American Chef j
George ClUm created the first potato chips. Once when a diner complained that the French fries !
were too thick, he got angry and sliced the potatoes as thinly as possible making them too thinj
and crispy to eat with a fork. The diner loved them and thus potato chips were born. In the Unite
Kingdom and Ireland crisps are what are called potato chips in United States. Chips reter t

French fries in United Kingdom and Ireland ..



(8) about 242 pounds
. ~ about 280 pounds

•

--~-~- --"- -_._-~. ",--"

7pounds of potato chips are produced from 100pounds of potatoes. Americans consume
m pounds of potato chips every year and spend more than $7 billion a year on them.

Nhat are potato chips called in UK,:/
A) french fries (8) chips. \{YJ crisps (0) potatoes

Vhen and where were potato chips born?

1\) August 14 ,1853 in New Y0o/ (8) August 24 ,1853 in France
arAugust 24, 1853 in New York ' (0) August 24, 1883 in France ~

Vhatdoes the word consume mean in the ffrst paragraph?
'\) play (8) grow ~eat (0) store'

,ccording to the passage how many potatoes do the Europeans consume per person
very year ?
~) about 180 pounds
:;) about 240 pounds

Ine of the phrases is not true about potato Chips:
~aten with fork (8) made of potatoes v'

~)thin and crispy......... (0) called crisps in United Kingdom/

,", .------------------------

r.

I

I !
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1. ~ 3i<P 3iJt;fi 1Ytt ~ I

2. RH q;r q ~~ tR" 3ftAT 3FjJ!;iJt-q; R~f1lp.f~' 2.

~~~lli~~fffifl~~~.~tt

3i<P ft.ron ~ I

3. R~;:r- lp.f tR" 3Rl" ~tJ ;:r~' I R~;:rq;r tR" ~ '1ft 3.

~ 3ffiPcf;:r 1IR I

4. ~~nn;:r-~1Y90 R~;:r~nll%TR~;:r3lf.mlf t' I~ R~;:rlffl' 4.

I!lli 3flli t I

5. m;:r-tr.I'~aio1Y~~'ltli-1lmftgt'I~RH-tr.I'~~ 5.

;:rtf I

6. '3m- ~1Y~m;:r~JIi1'ltlr; 3fflicft'1 ~~~ 6.

~~~ JIi1'ltlr;A, B. C. o. 'l\T3f11Im t I 3l1tf ~

R~;:r ~ mt \3'ffi' ~ ~ ~ ~ 1M~ ~ tliT<'IT lIR' I

~@ @ • @ (Cmt'3mtl)

7. '3m an;py~.~ ~ \3'ffi'-~ 'If'l: tt 3f11Im lIR' I 7.

8. l«'lflliR~;:r~~~~tl~em~m.rn~;:r 8.

'lCml1
9. tRtm ~ \3'tl~ f.rtteflli llil ~.~ ~;:rr3tf.Icn<f 9.

tl

INSTRUCTIONS TO CANDIDATES

Write all the Nos. in English only.

Write your Roll No. as given in admission card

on this question paper as well as on the Answer

sheet.Write only one digit in one block.

Do not write anything dseon the question paper.

in no casemark answeron the questionpaper.

Thc::reare90 questionsin this paper.All the questionsare'

compulsory. Each question carries one mark.

There are sheets.for rough work at the end of question

paper do not tear these off from the question paper.

Serial Nos. of all the question.arewritten on the Answer

sheet.In front of thesethe Serial Nos. A, B. C. b prob-

able answer are given You have to select the correct

answer and black in the circle arount it.

Example @ @.. @ (C is correct Ans.)

Mark answer,on separ~teAnswer sheet given.

Time for eachquestion is short. keep time in your mind.

do not waste it.

Handing over of the Answer Sheet. to the invigilator. is

compulsory' after the examination.
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(A) Below speed of sound -

(B) Equal to speed of sound

Unit of pressure in S.l. system is-

(A)~'/

yerPascal

(C) Newton /

(0) Caloriey.. ,

Temperatureof an iron blockis 140°F. .
Its temperaturein celcius~calewill be.

, ,\ -

(A) 10cfc " .~ ~,)..'

~C' If; r '
• . I

(C) 3tC />

(0) 140°C f5

A drop of water is always spheri~1
due to- '
(A) Viscosity

~urface tension

(C) Atmospheric pressure

(0) Gravity

Speed of super-sonic Aircraft is-

0.1.

0.2.

0.4.

S.I. l1o&fu~~ CfiTm?lCfim%-

~~~CfiTm?lCfim%- '

(A) &> fficl'1
(B) QI'fqj('1

(C) ~
(0) ~(i11;fl

~ ~ ~ ~ <liT,'ctl !HiJrl'~1~O'p % I

flf~'4ft ~'tR d141411m-
(A) 100°C
(B) 60°C
(C) 32°C'

(0) 140°C

, ,

(A) ~lll'1ctl

(B) ~wnq .
(C) Qlg4\St;f'\,ll ~

.(O)~

WR~fcfllR.~~ett7Tfcrmm
%-
(A) &Jrf.rett7Tfcr~~, :2. It ~ ~
(B) ~ett7Tfcr~~ k'-t:; ~7
(C) ~ett7Tfcr~31NcnI/rl R ~~orethanspeedOfsound

(0)' ~~~ f ~ ". (0) Equa.I to speed of light
.~ Cl'1 ~ \I':. ~~. J. ~S~'f

~~ ett~ 'it 4('11'41 ~ WT'lilT11 ~ The escape velocity from earth is ;
fcf;.lIT.lflCho:s% I ~~ ~ m t:R'('CJ ~,11 km/sec. The escapevelocity frqfll a
~'~~~W'it""""""""""'WT {'v planet having equal density and ' ,m- . 'iC1I'l'1. . double radius of earth is-.' ,

•. ~'(A) 15.56km/sec
(P\) 1 5.5 6 fcf;~ ./'-\9&>~o~\S ( C\ i'l\~, ,. \II'> \~, I'
(B)22f<J;~./\9&>o\S \\:'1:[ "J--IJPrZL1\.msec

(C) ;, .5fcf;~./\9&>o\S ',~ ~~\ (C) 5.5 km/sec

(0) 1 1 .fcf;~./\9&>o\S • y (0) 11 km/sec
)

>Iv-11.

>Iv-12.

>Iv-13.

>Iv-14.

>Iv-15.



\
l. \' ~t """_1 *•.-'. +~ ;,;~, ~._--_ .. ~-----~--=-:rr;,

.,~ .••{, •• ....!'r...,' ~-. '.'~.~"" • ~'

.j' "hi It=)

q 6. f.{l:;:r -qftq~-q A 'Om B ~ ~ Cffi

~>TfdU~~-

~~ ~~ ll~Cft<I"1" 1~cG14

.al?fllal?fqfT~~ ~ ~crnrrt I

ll~ Cft<1"11RwR qffl- ~ ~ ~ 6'rYr-

(A) ~31'R

(B) ~31'R

(C) CfiTlT\if ~ ~ ~ 31'R amf ~

~

~) CfiTlT\if .ll ~ ~ 31'R.\JIffi.~

~
~ 8. 3lffiRCl1Tur i v:ct q<lqd1 <nluT r ~

~ qft cfiR m 'Wfi ~~

~-

Q. 6. The resultant resistance bet',yeen
A and B in the following circuit is-

. An electron enters a magnetic field
at right angle to'it as shown in figure .
The direction of the force acting on
the electron will be-

(A) To the right

.(B) To the left

(C) Coming out of paper at
right angle

~ing into the paper at
right angle

Q.8. Which oOhe following correctly
represents graphical relation between
the angle of incidence; and the angle
of reflectionr ?

(A)i~ (B)iL -1 (A)i~ . (B)iL

r r

.(C)i~ ~)i~ L (C)i't: Ai~ .

r r r r



~ 9. fcI:im~ ~ if ~ ~ 31a:m en)

~ ~ 3TI'1 f.p:;:r if "B ch"R "BT "ffi:r
~~-

(A) 5 0 ~~~cpy~~

(B) 50 ~~~cpy 3TCRWf~

(C) 5 ~~. ~~cpy~~

, (D) 5 ~~. ~ ~ cpy3TCRWf~

Q.9. Which of the following lenses would
you prefer to use while reading small
letters foun(}in a dictionary-

(A) 50%

(8) 100%

(C) 200%'

\{p.)'"300%

~ Three light bulbs of 40W , 60W
,~ and 100W are connected in serie

with 220 volt source. Which of
the bulbs will grow brightest?

\,

"/1'

-, .
c-~ (. ,'~'..

(0) 300%

40W, 60W, 100W ~'ijR~
~On~ti if 220 V ~ ~ "B ~ ~ I

ch"R "BT ~ ~ T./l1cfi ~- \!
"f

(A) 50%

~11.

(C) 200%

(8) 100%

~10. v:<ll~attqft~100%~~

'~rrniT>l'fuUlclif qRCldim-

.~.

(A) 60W

(8) 40W

(C) 100W

(0) ~ ~ 'CjlfCjj ~ 'W~ ~

(A) 60W

\~W.'

(C)100W

(0) All with same brightness

'.

~ 12. 'tf~ ~~"tR !l{<\i4lll ~ 9 CfiT

liRm~-

Q. 12. The value of gravitational acceleration
9 at the centre of the earth is -

'(C) 32.2 m/s2

(A) Infinite

(8) 9.8 m/s2

••~o

•

(O)~

(A)~

(8) 9.8 m/s2

(C) 32:2 m/s2



Q.14. Valencyof carbon in CO~- ion is-

Q. 13. Which pair of atomic number
represent S-block elements-

13.~~t:tiCh"i <tT cti'R '"ID'~ s-
~men~_t-
(A) 7 ,15

(B) 6 ,14

(C) 9, 17

(0)4,12

14. CO ~-aw:A -qClir$rett~41\l1 cfi(11 ~- ,

(A) 2

(B) 3 ~ ~ \,

(C) 4

(D) 5

f (A) 7 ,15

(B) 6 , 14

(C) 9, 17

~4,12
~--
(A) 2

(B) 3

~

(D) 5

L
"3'-1

\1 I ~

.
4' - b :: '~,-<

,

'I

15. WmenX orY ~ ~1A,,*?'ff1Cfi rClPllI~
~~lW:~-

X=2,8,8,2
,Y=2,8,7

~mcITc);lf&r~~~ 3l1<lPlcp

~q;-r~t-

,Q.15. The electronic configuration
of two elements X and Y:are
given below-
, X=2,8,8,2

Y=2,8,7
The formula of a compund
that can be formed between
these two elements is

(A) X Y

, (6) X~

(C) X2Y
(0) XY3

(A) X Y

,#~
(C)XN

(0) XY3

x

r 16. ~ih1CliT~tgq)~-

(A) l)-,~

(B)~

(C)~~

(O)~~

NTSE - II

Q. 16. The main component of Bio gas is-

'~hane

(B) Benzene

(C) Ethylene

(D) Ethane

4



,--

;rv-l17.f1~f(1f~('jif ~ ctR ~ 1f'l1TCf

~Cfi\ClT%-

(i) "J1'ICI) ~ (ii) ~~

(iii) C/5'ftR ~ ~

(iv)~~

(A) (i) cr:m (ii)

(B) (ii) cr:m(iv)

(C) (iii) cr:m(iv)

(0) (ii)cr:m (iii)

~ 18. f1~f(1f~('j if ~ ctR "fIT ~

~llll\1iCfla:rf~~-
(A) CH4

(B) CJ-f6

(C) C2H4

(0) C:!Ha

~ 19.*~Cf~* a:rrt Cfft ~
~~~~~fCl(1""l1~

~m-m-
(A)~

(B)~

(C) \iGI;ff)1

(O)~~~'

A 20. f1'1f(1f~('jif ~ ~ fl:r~~ if ~
mg; ~ "tfPft \iffift-

(A)7R~

(B)\Jl+R~

(C)~

(D) "Cl5tm

Q. 17. Which of the following shows
the tyndall effect -

'(I) Common salt (ii) rnilk

(iii) Copper sulphate solution

(iv) Starch solution

(A) (i) and(ii)

~and(iv)

(C) (iii) and (iv)

(0) (ii) and (iii)

0
"

(" .•18. Which one of the following compou .
will give addition reaction-

(A) CH4

(B) C2H6

~2H4'"

(0) C:!Ha

Q. 19. Nature of aqueous solution of sa '
obtained by the reaction of.s.tJ:Q.D
,acid arid strong base i,s-

(A) Acidic'

(B) Basic

~utral

(0) Amphoteric

Q. 20. Which of the following alloy
does not contain zinc metal -

(A) Gun metal

(B) German silver

(C) Brass

\.--fBT13ronze



Q. 21. The functional group of carboxylic
acid is-

~ 23. ~ f.fl:rtuy -q aiQ -q FCR'iCfl(-q ---- .
ftii?l l(j 1~ ~-'- .

C 0011

(A) -OH

(B) -CHO

(C) >C
II
o

~ -C-OH
II0,

~. Number of moles is 128 gm of
~ sulphur will be -

~.'.

(B)2 \ -< 23.--::::
~ ~~

/;.\
(0)8. ~.

'b

eJ...23 In the end of manufacturingof
cement __ is mixed with the
clinkers-' .

~psum powder

(B) Magnesium powder

(C) Alumina powder

(0) None of the above

)q

':\~2:-
>?(X2'r

M

(A) 0.5

(B) 2

(C)4

(0) 8

(A)~%HH
(8) ~h~~I<1+jl:JN\SX

(C) q~~'11 41\3\S'<

(D) \3Q,<'ICffl ll.~ ~ -w

(A) -OH.
..•

- (B) -CHO

(C) >C
II
o

(0) - C - OH

8
::r22. 128lJ1li~-qllTffi cn1 ti'&rr mrIT-

::r 24. ~ ~'lffi ~ ~-m CfiT ~

Cfl~('1ldl ~-

.":'.

Q. 24. A group of inter connected
food chains is called -

(A)~'tfW

(8) ~ cpr fqd~\S

(C)~~~

(D) mer \1ff(rf

(A) Food cycle

(B) Pyramid of energy

(C) Complex food chain

~dweb
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'[ 25. F\'1f(?lf&a if ~ ~ -m atrT aC'fl;;\"1

~W;{f~~t"-

(A)~
(B) 3lh11!;!1~

(C)~

(0) (Cfq1

~ 26. B&\I"1I~{ fuU feP-IIB f1Plf(?lf&a if it
fqjB Chl i:Rft if 1:Ilm~ t"-

(A)~

(B) 3l1l1

(C) tffi1

.(O)~

~ 27. f1PlR'lf&a if it ~ c:h'If:<l<t11if ~

1:Ilm~-

(A)~

. (B) ~n~EICfilR~1

(C) 11l~CfiIll'

(0) 3tcf:~ G1(~Cfir

G Which of the following organ(U is not related with excretion-

(A) Lungs

~ancreas

(C) Liver

(0) Ski!)

Q. 26. Parallel venation is found in
.which of the following leaves .

(A) Lemon

(B) Mango

~ass

(0) Rose

Q. 27. Which of the following is
not found in the animal cell-

~astid
(B) Mitochondria

(C) Golgi body

(0) Endoplasmic reticulun

~ 28. \cRfif _ ~2>lICf8I~S ~ qf(q~"1

mm~- .
. (A) ~ xm qil~ICfi13TIam

(B)~am

(C) ~xm qil~ICfiI3TIam

(0) t<fIE<ft ~'8 am •

Q. 28. Carbon dioxide transports in the
blood through-

(A) Red blood cells r
\..--(B~Plesma

(C) White blood cells X'

(D).Platelets)C



(A)~~

(8) t!lltl'<I~;gm
(C)~
(O)~~

_. ---_.---- ...--- -"-- :::.--:::.- __ . -_. ----- -- ~..--_.~--_.

~ Which of the following is not an
U endocrine gland-

(A) Pituitory gland

(B) Thyroid gland

~er

(0) Adrenal gland

f_~
, /'1: !

i i

. i

I

a. 31. Which of the.following is an
example of algae-

I i

: III
I

Tendon and ligament

»(B) Blood and lymph

)dP) Bone and cartilage

(0) None of the aboye

(A) Yeast---F

~ogyra

(C) Fern '/...

(0) Amoeba y....

a.30.

~ Limiting factors for the.(7, rate of photosynthesis
are-

)<'(A) Oxygen and watey<'

X (B) Mineral and salY'

~intensity andtemperature

)00)Structure of leaf and stem;><.

(A) 3l1cffl)\J1'1 q~ ~

(B)~~~

(C) .~ cCr ~ ~ dlq~01

(0) lffir ~"G'fcCrti'<!li'1l

>rqiT~nj~<Al5IOICfl1 ~~ft9'Q: .

BllOlH1Ctll<Ctl t-

f1l'1f~f<Sld if ~ Cfi'R ~ q;y ae:I~<OI

t-
(A)~

(B) t41~:<'11111l'l1

~(~)~~t-

(A)~afR~

(B).afR~

(C)~3fR.~

(D)~~~~
"

.(C) tp.f

(D)~



33. ~31T f"P"'ifC'lf@Cl~ ~ fcf;BW:! ~

.wnml~-

(A) 3TI~

(B)~~~\Sr

(C) ~cm{;fI~'<~Cl

(0) +flctm

R 34. f{Cti(H (~WT) f1~fC'lf@Cl~

~. fCh~c:j"l~ ~ mm~-

(B)~cl~"~

(C)~C1~'" ~

(D)m€A

~ 35.ilusct mu m7N.~ ~q;{SI'l(~

~ 'hct~li'\q Wij 1)~ - ~

~ 1}mcft -q31Slmcft "ct8;iUT fcf;B

~ ~ cj~Il:r(Cl"@l-

(A) 3 : 1

(B) 1 : 3

(C) 2 : 3

(0) 3: 2

Q. 33. Earthworm is related to which of
the following phylum-

(A) Arthropoda )

~nnelida

(C) Echinodermeta7
(0) Mollusca 'l-

Q.34. Rickets is caused by the deficiency

of which of the following -

(A) Carbohydrate

(B) Vitamin A

~minO

(0) Protein

. Q. 35. What will be the ratio of dominant
and recessive character inherited
in first filial generation of mono-
hybrid cross done by the mendal-

\P1
. (B) 1 : 3

(C) 2 : 3

(0) 3 : 2

. 1,



(A) 1916 ~ 1919

(B) 1920 ~ 1922,

(C) 1925 ~ 1935

(O)1914~ 1918

(A) 3Rn<i~~~.

(B) ~ '{"qd?lClI

(C) w:r afR 3Tf6m~ +rJlf

q;)~

'(0) \~W<'J:ffi ~~.

(A) ~ffil~Ch \if1Ri ~~I\1I~RJCh .

-mr.
(8) ~tt1I~Ch wm ~ 31&lI~Ch

~
(C) ~ ~ c» 3lT&lIRiiC/l .~

19. ~ i:fltft~11~ 'l1ffif 3WlT"3"WfiT

'BWffi v;cFi ~ ~. t" mu fcn<rr
TflTT erf-

(A) CfTlffi 3lTaTI '{'j1~'11

(B)'CfTlffi ~ t- '{'j1~'11

(C) CfTlffi \ifTaTI '{'j1&'11 .

(0)~m '{'j1&'11

Q. 36. Period of first world war-

(A) 1916tQ
j
1919"A'

(B) 19~Oto 192~

(C) 1925to 1935;k

~914to 1918

Q. 37. What does Satyagraha mean?

~ht against injustice

)<:iB) Complete independence

)dC) Following the path of
truth and non-violence

(0) All of the above,

. Q. 38. .Who was the khalifa ? .

(A) The political leader of the
Islamic world

~esPiritual head' of the
Islamic world

(C) The splritualleader of the
whole world

(0) The spiritual leader of the
Saudi Arabia

Q.39. The Simon commission was greeted
on its arrival in India with a famous
slogan-

(A) Come back Simo~. .'

(B) Welcome backSim~

~ack Simon

(0) Stay hereSim7.

]
, I
I
i

i
I
!



\

.0. %'~ ~ ;JJf<.'1l1ic-lR'I1 ~ CfilUS

~3lT-.

. (A)W

(B)ft
(C)~.

(0) 3l~cH1'{

Q.40. The place where Jallianwala Bagh
incident took place-

(A) Meerut)(

(B) Jhansr;

. (C) Oelhi7
~ritsar

~1. m~~d"dl ~ 31tA *11O\1'q\(

"t!?l "m" .~~ ~ t-
(N '{fcl~F11~trrR

(B)~'Gffi

(C) ~. al \l1qct "'{l<:f.

(O)'~ Tf1TI~ ~

O. 41. Which freedom fighter is known by
his newspaper "kesari" ?

.'t.A) Rabindranath Tagore

y (B) Mukund Oas I

'I (C) Lala lajpat Rai

~I GangadharTiiak
. .

.42. ~. ~'"iA1 Cfit ~~-
.' \

(A)'~ fcli;!q9)O& T{

(B) ~~ fcli;!q9)O& T{

(C)~-~~~T{

(O)(lji.al~i;!I'~ T{

.em~Hin~ sen. was established in -

~orldwar

(B) I world war

(C) Indo-China border conflict.

(0) Bangladesh .conflict

."(AY~"Cf~'~~~

.(B}'~."Cfm~~~~~

.(C) ~"Cf~ ~ mrg ~ ~

Q. 43. IIbattle of Panipat wasfought
between;

~eenAkbar and Hemu

(B) Between Babar and
Ibrahim Lodhi X'

(C) Between Humayun
and.Bahadurshah X .

(0) Between Akbar and
Rajput )<, .'



ltil€1\i1€1iCfiT ~ f~€1lfl1.etA ~

TT<:fT ~-

(A)~~

(8) 'lfumg .

(C)~ 41\111~

(D) Glxl~ICf)~6

@i1\I$'j ~ ~ ~ f.Jmur ~

CfiU'lIT ~-

(A) tI)(i'jcBl em
(13)~em

(C)~.cm

(D)~cm

. ~ ~!ft"q ~ CfiT ';:ffl1 cp;rr~?

\ill.~ Cfi1 ~ -q Wm ~~. ..

(A)R~

(8) 310'5'111, P!Cf))61lx iftq

(C) sMtcflq .

(D) III~cj)jll t'rtr

.:J

. etA m31~ ~ ;m m«f"?J
'WTi-q~~mm~?

(A)q;$tm
. (8)~tm

(C)lff~tm .

(D) <JI1Fc1il tm

. :.-

Q. 44. Who captured the Peacock
Throne of emperor Shah Jahan ?

(A) Timur lung

~adirShah

(C) Mahmud Ghajnavi

(0) Oara Shikoh

.Q. 45. Who built Khajuraho temple?

(A) Sblanki dynasty I.
(B) Parmar dynasty 'I

~andela dynasty

(0) Chouhan dynastyy

Q. 46. Name the group of islands of India
lying in the Bay of bengal are;

(A) Lakshyadweep

. ~man-NiCObar dweep

(C) Maldives

(0) Minicoy dweep

Q.47. Which line of axis divides India into
two parts?

~oPiC of cancer

(B) The tropic of ~apricorn

(C) Equator

(0) qreenwhich line



-_. -----_._-. \~---

m 48. ~r,*W;;11R~.qffi .~8;Tf<fiB"5ICfiR

~ -q.ff -ij'~ ~~-
(A) ~Glcil61{ q;:r

(B) ~'i:lR'r .cr=r

.(C).~ cr=r .'

.. (0) .~ cr=r

.
'~""".'..' .. :-.4.'.8.)'.... In which of the forests are the treesU. with conical shaped leaves found?

(A) Evergreen forest

~iferous forest.
. .. .

(C) Deciduous forest

(D) Tropical rainforest

Hirakund Dam.is built on the river ..

,
-... (A) Internal trade X
~rnationaltrade

(C)External trade;<
_. (D) L()caltrad;x.

0.51.. Shimla is capital bf which state - ..

~chalPradesh

. ~(B) Andhra Pradesh'

/C) Tamil Nadu .

)<to) Madhya Praqesh

Which ofthe following terrn is
.. ' used to describe trade beW{een -
two or more countries ...

.0.49. Which is the largest desert in the
world?'

(A) Gobi ~_

. (B) Kalahari '~"

. '(C)Pantagonia l-
~ahara

0", •(A) 3l1~RCf) ~

.' (B)31~'<\€tlJ~

(C)~.ctnqR

(D)_~~

(A)~ .

(B) Cf}ldI61~

(C) 'tt.cllrIPllJl -

.'(D)~

~ 52.~"lIT a:IT'l:l'fi ~~l:[~ cx:rrtm: q;)

~ .~.WU ~ \ifRlT .t-c-

~ 50.t1"1{1~'SGfl'l:lf<fiB~"tR: ~ -rr:rrt-'

_.(A)~'

(B) iJ~I'1~

. (C) G\l1~G,{

'(D)~

~ 51, .~f<fiBm~~~t?

(A) l%iJlild ~

'(B}3lt~

(C). (j~~~I:g

'.(O~~'
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55. ~ '81~I"4dlll ~ if ~ t-:- .~ Mansoon arrives in India

"'-./ approximately in-

(A) crc~ t
(B).~~t

(C)~t.

(0) \j4'{)CR1 +l ~ ~

54. f~f(1CfiT1 cfffi" w.m t- .
(A) ~ll('1)'{

(B) ~ ff1 'l'J)f::f<l1

(C)~
(D) 3ji'!'iC::IIIIIC::

(A) ~ eM ~3TRf

(B) 'fi eM ~3TRf

(C) ~ eM ~3TRf

(0) 3l'ffif eM ~3TRf

. (A) tlgu)'{11Ji1 3j~Rq)1

(B) all<l'{~O\S

(C)~'

(O)~'~

57.'~ q1.f 4lf(1Cfi Cfi'd04i q;) ~~

if~<r1T?

. (A) ~1 966

(B) ~ 19.76

(C)~ 1974

(O)~ 1978

~.53 ~ater availability per person in Indiac.;:;r IS - .

. ~creaSing

,(B) Increasing

(C) Stagnant

(0) None of the above

Q. 5 4 Silicon valley is located in-

(A) Banglore"f-

~alifornia

(C) Ugandat

(0) Ahmedabatr-j

(A) Early may

~EarlyJune

(C) Early July

(0) Early August

Q. 56. The model of fundamental rights had
been taken from-

~

(B) Ireland

(C) Canada

(0) Great britain

~ Inwhich year were the fundamental
~ duties added to the constitution-

(A) 19667-

\.-.(B}-,1976 \ q 8'-I
,

(C) 1974

.~978

1
I !, .
I ,

:, "~I,

1'1
I,ll
1,:1.1
'I
.. ~
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\ : II .11 U2,.C ,

••.. " "'.'~".

;8..~.-if.1J&I ~ ~ qfr ~

~Cfi«l1%?

(A) -mrct
(8) '{1e;qR!

(C}'1~ ..

(O)~~~

59. ~ ~ g:ro~~ ~ furl:
fcficA ~ q;l ~ .~ \ilTClT %?

(A)2~

(8) 3 ~

(C) 12~

(0) 6 ~

l60. oqmr~~. 0<:11""11('1""1 ~ ~mm
qft. ~Cllf11f~qft ~ ~%-

(A) 60 qtf

(8) 64 qtf

(C) 65 qtf

(0) 70 qtf

H 61. f1~f<:1f&d if ~ ct'R m ~
111lRCfldlcnT ~ -m %-~
(A) 31 $1 1'1C1I

(8) 3TT-m~

(C) ftTlffi

(O)~~

~ 62.'~~'l:lR if ~ ~ %?

(A) 195
(8) 295

(C) 395
/1""\\ AnI:

0.58. Who appoints the chief election

commissioner of India-

(A) Parliament

~sident

(C) Prime~minister

(0) Chie.fjustice

a. 59, How many members are. nominated

by the p'resident in Lok Sabha ?

~bers

(6) 3 mempefs

(C) 12 members

(0) 6 members

a. 60, Thejudgesof the supremecourt of India

retireat the age of-

(A) 60 years .

(6) 64 years

~years

(0) 70 years

Q. 61. Whichofthe followingis nota quality .
. ,' " '

ofgood citizenship-

~rance

. (8) Good heaith

(C) Education .

(0) Patriotism

Q, 62. Howmanyarticles are therein the
IndianConstitution?

(A) 195
(6) 295

~5.

(0) 495



'llrof -q '4lfllCfl "WlTa:rr ett".
~ 11m t-? " "
(A)~ .

(B)~~

(C) \j'tilt1¥l "illtllCi1tl ~ ~ ~ltll,Ci1tl.

(0) ~ \j'tildJi ~ltllCi1tl

~ t- -;ftfu f1~~ICflmqT q;1 ~
"Bfq~ t- ~ ~ -q mr ll<nt-?

(A) ~ 26 ~ 41-

(B)~ 31 ~ 56

(C)~ 41 ~ 66

(0) at~C; 3 6 ~" 51

'~f<l~6j ~. ' ~ ~ ft;p;rr lFUJ7 .

(A) ~ \jqPll!lG

(B)~

(C)~~

(0) ~ ~ ~ -.=r@

'. ~1~@l1ett ~ if cqrorCfiT ~ -q
~m~t-:...

(A)~

'(B)~
(C)~
(0) -:clT~

. ~ q:qCltffGl ~CfiT~t-

(A) W{ 1955 - .60

(B) W{ 1962'-"67

(C) W{ 1950,- 56

(0) W{ 1951 - 56

Who holds the power of judicial
review in India? '

(A) Parliament /

(8) Law mil1ister:'[

(C) Supreme court and High court .

~y supreme court

Q, 64. Whichof thefollowingarticlesof the Indian
constitutiondealswith the directiveprinciples
of statepolicf'? . .

(A) Article 26 to 41

(8) Article 31 to 56

(C) Article 41 to 66

~icle ~6 to 51

..
Q. 65. "Satyameva Jayate" has been taken from -

. ~ak Upnishad

(8) Rigv~da

(C) Natya Sufra

(0) None of these

Q. 66. Which place does India hold in the world
regarding the population?

(A) First

~ond

(C) Third '

(0) Fourth

Q. 67, The duration of first five year'plan -

(A) 1955 to 60

(8) 1.962 to 67
,

(C) 1950 to 56

~51t056

1 -
, ,
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58. ~ 9fiTfu -B ~t"-
(A) ~~ \'3~IG~

, (B) Trt \'3~IG~

(C).~ \'3~IG~

(0) ~ \'3cqIG~.

69.~am~~~~~

CliW t"-
(A) ~ ~ ~ulq't1l~ ~

(B) .~ ,~ '1T?IT

(C) ~ ~ ~csmtT ,

(O)~~~~
\ .

'f 70. P.D.S. <fiT~ ~ ~-

" (A) ~fc!d'<UI ~

(B)~~~'@lCfi fc!d,<ul ~

(C) \iFf fc!d,<uT ~

(O)~. fc!d,<ul ~'

A71. ~ ~t"-
20

(A)6 %

(B) 20 %

(C) 26 %

(0)30%

~72. ~.~if,~~~?ffi~"l

(A) 1 "

~::: D
(0) 4

Q. 68. White revolution means-

~product

_ (8) Wheat product

(C) Rubber product

(0) Pulse product

, Q.69. Agmark and lSI mark shows-

~uality and standard of products

(B) Quantity of the product

(C) Availability of the product

(0) None of these

Q.70. Write the full form of POS?

(A) Price distributionsystem

(B) Pluraldistributionsystem

"-" (C) I'Ublicdistributionsystem
"

(0) Place distributionsystem

Q.71. Equivalent of ~ is-
20

(A) 6 %

(B) 20 %

(C) 26 %

\~%

, Q.72. How many surfaces in solid cylinder-

I
i

..
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From a pack of playing cards all cards
whose nl,l(TlbE!rsare multiple of 3 are
removed. A car-dis now drawn at
random. :Then the probability that the
card drawn is an even number is red
card"

Median of 4,5,10,6,1,14,9and 1,5'
will be-

(A) 3

(B) 2

(C) 5

~

(A) .1Q.
52

(8) 1.
4

~

(0) ~
13

. (A) 10

~
. (C) 16

(0) 9

0.75.

0.74. If ( x • 2 ) is a factor of polynomial
x3+2x2• kx + 10..1"hen the valllEtof
k will be- ...,.' .

O. 73. The order of any matrix is 3 X 2 then
. no. of element it are-

~\
~.

0k.
.~O ..

~ .

~~qft~~3ct.~~

"tffi 31WT ~ *Fl ~ ~.~~

T[GlT ~ ..~ ~"(7r CifiT ~.~ q;r

~m-aT~ 511fllCfldi m

(A) .1Q.
52

(B} f
"4 \ ~q :

(C) 1 .:0 J
.. - r f') Q

5 \.;~'I t> t
(0) ~ '. .'1 '\/'1 )

13'. 'I .. ~.. . .. '.. .....Lift
4,5,~O,6.7,14.9.15qft~m' . 0.76.

~ (x-2)~ x3+2x~kx+10

q;r ~ !l011@'St -aTk q;r 1:rRm

° .: .0-- - o.

~ ~ ..ett Cfilfi 3x2 ~~ ~

~mm
(A) 3 ..

(B) 2

(C) 5

(0) 6

(A) 10

. (B) 13

(C) 16

(0) 9

#'.- . h

(A) 6

. (8)7

(C) 8 .

(0) 9

(A) 6

(8) 7

.~

(D) 9
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If an arithmetic progression sum of
first n terms is 2n2+ 3n . Its common
difference is-.

(A)9

(B)3

(C) 2

'.,rL.

Q.77. Mean proportion of 64 and 225 will be-
~",'

(B) 90 ~ 1 '.L ~ "s
(C) 60 ~ ~1(
(0) 30 ' , ~ '3 . ~

64 v:ci.225~ ~ liVl ~ ~ mrft
(A) 120

(B) 90

(C) 60

(0) 30

m81

J

~ 78 <rrc:~(.2 1-5) , (2 , -2) am: ( 8, a) Q,78, ,If the points ( -2, -5) I (2 , -2) and ( 8 I a)~ m m a CfiTl1Am are collinear then value ofa will be-

(A) ~ \ S" ~ (A) ~ C,P\ + ~ :' ..i
(B) 1.. ;3 . v.,11« /1' (B) 1 '1\ <; ~

,2 l1-to ,\.,,?7 2 (j... " g
(C). -5 \ .D.\.~, 0 r;,,~ (C) -5 ~, ~'

2 - ~ ,"" --+ A \-,{)
(0)5' ""-D i b 5 -

2 \~ i 2
m 79 ~~ 13,15,17,18 am n Q.79. If the number 13 ,15 I 17,,18 and n

~ ~ ••..•••.••.•.•••..• ~ _-'A-. are arranged in ascending order and
fSII~Q ~ ..; OllClf~ Q I <)'II'\.~ their arithmetic mean and median are '
,e1il1ia'( ~ q~ WIR m m equal then value of n will be-

nCfiT~m It' ~ -'<..I-I..-\:) "
(A.) 27 1 (..A_.)~27 t l....
(B) 22 ' \ ~22 S
(C).28 '" \ "til ~'0 (C) 28 . 0/
(0) ~ ~ ~ ~ ~ ~ ~ ~ -\ (0) none of these

Q 80 I 1
? I 1-?. . 09

10

= . Q.80. 0910 - •

(A) 0 ' '( \jHfJ

(B)10 \ 0 :: ,(B)10

~100 ~100

,(0)1000 (0)1000

;;;77



,9. 82. The area of three adjoining faces of
cuboid are A , Band C respectively
then its volume will be

Q. 84. If the co-ordinate of any circle are
( 3 , 4) and the co-ordinate of one ends
of its diameter are ( 5 , 3 ) then co-
ordinate of other ends of diameter are-

";l..

l1y~

.. Ii~
\J .,

{A} IT

{B} IT2

~3

{D} 3IT

{A} ABC ~ 0 b '1br h,.
~ \,,1 o/~

(C) KB2C2' 'f. tV-
. ~

(D}-None of these ) ~<b. h
J ..

Q. 83. If the radius of circle is IT, then its
area will be-

(A) IT

(B) IT2

{C)Ti3

(D) 3IT

4 ~~Cf;f~ (3,4}q~'&fffi

Cf;f~ fiR Cf;ff1~l(IiCfi ( 5 , 3 ) %(1)

''&fffi~ ~ fiR cf; r1~l(liCfim-

~ v:cn"Ff'IT'l1 eft (fR ~ ."lfiWliT ~. ~

SIilm:A,B-q C %aT~aw:RRm

{A} ABC-

. {B} IABC

(C) KB2C2

{D} ~~cnW~

3 ~~eft~ITm(l) ..~

~m-

{A}{ 4,1 } \ {A}{ 4,1)

{B}{ 1,4 } --' {B} ( 1 ,4 )
~."0 v~.(C) { 1 ,5} . \J.C}11,5)

(D) ( 5 , 1 ) {D}{ 5, 1 }
~ \\ z:J')

'" \ .,.\
5 coSZ26+ cos64sin26 + tan36 tJR ~ Q.85. The value of

. . , cot54 2+ cos64sin26 +:~

{A} 2 \ ,. 2 \ + \ !I
i!

(B) 1
~

{B} 1 \ of' il
(Cj 0

...-
(elO '~

II

II(D)~.~cnW~
- \

" \~'
. (D) None of these . . "'" >( II

i\3/64 ::?
.\

3/64 =? Sl,\l.

.~ ~~"It . '.~.~
Q.86.

(A) 2 (A) 2 , 1~JI:

(B) 4 ,..J. ' (},..~~ ~ ---: F ()\ '0
(C) 6 . - (C) 6

r<><; ::(
)( .

{D}8 t}... {D}8 -
" --1
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q 87 2x --3-~ ~ S1fMft4mm ~
3x+ 5

(A) 3 .2x
3x + 5

, (B) 3x +5
2x.3

(C) 3 - 2x
-3x - 5

(0) 2x -3
-3x-5

O. 87. The additive inverse of 2x - 3 is-
3x + 5 '

A

C

."

\ '. ~

, 5,.\A.Q
;;;.,..'
B . , C

J
In below figure PO 1\ BC and AP : PB = ;
1 : 2 :Then the ratio of area of MPO
andt.ABC will be -

(A) 1 : 2

(B) 1 : 4

~1:9

(0) 4 : 1

0.89 .

2... (A) 5 em
(B) 4 em

. (C) 3 em

~em

0.88. In belowfigureM~C is a right angle
triangle in whieh ffJ. = 90 and BC = 6 ern
and AB= 8 em .Then radius of ineircle

will be-

i ,

}..j

(A) 1 : 2

(B) 1 : 4

. (C) 1 :9

(0) 4: 1

~ ~ ~~ m tf PQ 1\ BC afu
AP: PB = 1 : 2 <if t.APQ ~ ~

. Cit.ABC~ ~ ~ ar:rmrm

.•. ~

B C

.m89

~ 88 ~ ~ m.,-q ABC ~ ~4ctl\olt.~

~ /JJ=.90',BC=6cmCi

AB= '8 cmm afo';~ ett~~-
A

(A)5em

(B) 4 em

.•• (C) 3 em

(0) 2 em



~

(8) 50'

(C) 45'

..(0) 90'

Q. 90. In the below figure A8 is a diameter
of circle and 'AT is tangent line then
value of x will be~

. B

T .A

(A) 65' ..

(8) 50'

(C) 45'

(0) 90'

f 90 ~~~m.q AB~C!iTam:r~ AT

..~~ft€lI ~ eft x C!iT1fR WIT .."
B .

--------=;;=.:=w=, ..~L.=::::=~;:=;,~s:;=:;=-::lC:::-~'-'-: ,-:;-:: --: -:----, __- _

-;", .



 

NTSE Stage 1 (2014-15) 
MAT 

Answer 
Q. no ANSWER Q. no ANSWER 

1 C 26 Bonus 
2 B 27 B 
3 A 28 A 
4 C 29 D 
5 A 30 C 
6 A 31 C 
7 D 32 C 
8 A 33 D 
9 D 34 B 

10 C 35 C 
11 B 36 A 
12 D 37 C 
13 A 38 D 
14 A 39 B 
15 C 40 D 
16 D 41 C 
17 A 42 C 
18 B 43 D 
19 Bonus 44 C 
20 B 45 B 
21 C 46 D 
22 C 47 C 
23 D 48 C 
24 A 49 B 
25 B 50 D 

 



 NTSE Stage 1 (2014-15) SAT Answer Key 

Q. No Answer 
(Physics) 

Q. No Answer 
(Chemistry) 

Q. No Answer 
 (Math) 

1 B 13 D 71 D 

2 B 14 C 72 C 

3 B 15 B 73 D 

4 C 16 A 74 B 

5 B 17 B 75 C 

6 B 18 C 76 C 

7 D 19 C 77 A 

8 D 20 D 78 D 

9 C 21 D 79 B 

10 D 22 A 80 A 

11 B 23 A 81 D 

12 D   82 B 

    83 C 

    84 C 

    85 A 

    86 B 

    87 A 

    88 D 

    89 C 

    90 A 

 


